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General Instructions:

. The Question Paper contains three sections.

. Section A has 24 questions. Attempt any 20 questions.
. Section B has 24 questions. Attempt any 20 questions.
. Section C has 12 questions. Attempt any 10 questions.
All questions carry equal marks.

. There is no negative marking.
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Section — A consists of 24 questions. Attempt any 20 questions from this section. The first attempted
20 questions would be evaluated.
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Complete the missing variable given as ‘X’ in the given reaction:
Pb(NO3)2 (a_q) + X.KI(aq) """"" > PbIZ (s) + 2 KNO}(aq)
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In the given experiment gas X burns witha ......... . Identify gas X.
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Pop sound ,Carbon dioxide.
Pop sound , Hydrogen
Hissing sound , Hydrogen.
Hissing sound , Oxygen
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Alternative question for visually impaired students

When Zinc granules react with dil sulphuric acid ,a gas X is released . Gas X burns with a
......... and the liberated gas A is ............

Pop sound ,Carbon dioxide.
Pop sound , Hydrogen
Hissing sound , Hydrogen.
Hissing sound , Oxygen
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Which of the following oxide(s) of iron would be obtained on prolonged reaction of iron with
steam
FeO
Fe2Os

Fe;04
Fe>Os3 and Fe30q4
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Which of the following correctly represents a balanced chemical equation?

2Ca0O(s) + 3CO, (g) — 2CaCO;,

2Ca0O(s) + CO, (g) — 2CaCO;,

CaO(s) + CO, (g) — CaCO,

CaO(s) + 2CO, (g) — CaCO;,
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The graph given here depicts a neutralization reaction

(acid + alkali — salt + water). The pH of a solution changes

as we add excess of acid to an alkali.

Which letter denotes the area of the graph where both base pH 74
and salt are present?
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strong acid and strong base
weak acid and weak base
weak acid and strong base.

v

strong acid and weak base

Alternative question for visually impaired students
Sodium carbonate is a basic salt because it is a salt of-

strong acid and strong base
weak acid and weak base
weak acid and strong base.
strong acid and weak base
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volume of acid added

MnO;
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Identify the oxidising agent in the following :

4HCl1 —e)  MnCl, + Cl, + 2H,0O

MnO,
MnClz
HCl1
H>O
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Decomposition and reduction of phosphorus
Decomposition and oxidation of phosphorus
Combination and oxidation of phosphorus
Combination and reduction of phosphorus
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The chemical reaction between phosphorus and oxygen can be categorized as:
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An acid when dissolved in water gives ............ ions.
A. Hydroxide
B. Negative
C. Hydronium
D. All of these
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When a small amount of acid is added to water ,the phenomenon which occur are
L. Dilution
II. Neutalisation

II1. Formation of hydronium ion

IV. Salt formation
A. Tand II
B. Tand IIL
C. Tand IV
D. Il and IV
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The iron rod is covered with a reddish- brown layer which damages the surface of the rod. Its
10 balanced equation is represented by-

A, 3Fe + 4H0 ey Fe203  + 4 H

B. 3Fe + 4H,O FesOs + 4H;

C. 3Fe +2H0 ey FeO + 2H;




D.

3Fe + 2 H)0O — Fe;Oq4 + 2H»

11.
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The diagram shows the arrangement of cells inside the leaf of a green plant containing
chloroplast. Choose the correct option of the cells-
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I and III
IIand IV
LI and IV
All of these
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Alternative question for visually impaired students
The site of photosynthesis is..................

Nucleus
chloroplast
vacuole

all of the above
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B.
C.
D.

The figure given along side represents-
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neuron
nephron
alveoli
villi

Alternative question for visually impaired students

The structural and functional unit of kidney is

SCOowp

neuron
nephron
alveoli
villi

13.
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Can neutralization reaction be best described as a physical change or a chemical change?




No new chemicals are formed during a neutralization reaction,
New chemicals are formed during a neutralization reaction.
It is not necessary that a new chemical must be formed.

A

B

C.

D. All of the above
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A Fgh, FIRICIRE, 387 Bifrenr , Rfdier
B. ¥, Rfdwier, dRre, 87 Hiferer
C.  Rfaxer, bbb, FTaRERE, aff Bifeidr
D.  F<p, wRwe, Rfcwewr, 8 Bifder
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D. Pk , TARIRE 3R Rfdxiapr
14.
Here is the diagram of a closed stomata ,where @ ,@ @ and @ are
A. nucleus, chloroplast , guard cell, vacuole
B. nucleus, vacuole , chloroplast , guard cell
C. wvacuole, nucleus , chloroplast , guard cell,
D. nucleus, chloroplast ,vacuole , guard cell
Alternative question for visually impaired students
Guard cells of stomata has —
A. nucleus and chloroplast
B. nucleus and vacuole
C. vacuole only
D. nucleus, chloroplast and vacuole
oY uTaes § 400 HieX Bl Al A P 99TTd,cifereds 370 &bl 3cdTed a1 arar gl fimfafad
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Lactic acid production has occurred in the athlete while running in the 400 m race. Which of the
following processes explains this event

A. Aerobic respiration
B. Anaerobic respiration
C. Fermentation

D. Breathing

16.
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Veins are thin walled and have valves because

the blood is flows under high pressure in them.
they collect blood from the heart.

It ensures blood flow in one direction.

. All of the above

oSN
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A. 3l gguT
B. gHde gdur
C. s/aad gdur
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Which of the following mirror is used to concentrate sunlight to produce heat in solar furnaces?

A. Convex mirror

B. Plane mirror

C. Concave mirror

D. Any spherical mirror

18.

il 31adel gUUT ST hidhal @IS 10.0 cm &,%
A 15.0 cm @1 I W Vb a¥g ¥l 8l gfdfaw ured M
X P Tl BB (U<) BT Uo7 I fobat gt UR 3@ 1 '
ELR

10 cm
15 cm
30 cm
35cm
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An object is placed at 15.0 cm in front of a concave
mirror of focal length 10.0 cm. At what distance from the
mirror should a screen be placed in order to obtain a sharp

image? | o A
B
A. 10cm B F
B. 15cm
C. 30cm A .
D. 35cm

Alternative question for visually impaired students
Convex lens focuses a real, point sized image at focus, the object is placed

A. At focus
B. BetweenF and C
C. Atinfinity

D

D. AtC
A Hiw
B.  Fdmer
C. smu=r
19. P e
The unit of power of lens is
A. metre
B. centimetre
C. Diopter
D. 1/metre?
A, {0t gregy ® wepTer & A  fAafa ¥ aerer & o o1
B.  SeT § yebrel & 97 F a1 H HehI[ & I BT
C. S ¥ yabror & I A fHafd o WepTer & i &l
20 D. figfq & wasrer & I J HTeH ¥ YabTel P AT BT

Refective index of the medium is the ratio of ........

Velocity of light in the medium to the velocity of light in the vaccum.
Velocity of light in water to the velocity of light in air.

Velocity of light in water to the velocity of light in the vaccum.
Velocity of light in vaccum to the velocity of light in the medium.
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A ray of light passes from air into water. The angle of refraction will be..

21. A. Zi= L1
B. i< /r
C. VACIVA
D. i/ 2r=0°
fopT FAAE ST GRT 97T 77T fdferr gL BidT 21
A grEdfdes e Eir
B.  arqfdes derm 3ee
C. 3R qar Ihr
. D.  3mrft qar 3T
Image formed by plane mirror is always
A.  Real and erect
B.  Real and inverted
C. Virtual and erect
D.  Virtual and inverted
1 Teb 10 cm B g3 BT 3qA oI IRATAD aT BIS TR T Uldfer «d F 15 cm BT gt
R §FTAT & ,dl a¥g I&1 8-
A 10em ™
B. 10cm @720 cm & §9 H
C. 20mAW
D. 20cm™
23.
A convex lens of focal length 10 cm forms a real, inverted and of small image at 15 cm from the
lens. The object is placed
A. At 10 cm
B. Between 10 cm and 20 cm
C. Beyond 20 cm
D. At20
fefeifed gdun § g gebR & Uo7 ol YR&id are AT & el JinT # @rT ST 82
A, gHAA gdur
B.  3d« gdur
4 C.  3rgdd gdor
' D.  gudd-3radd gyor

Which of the following mirror is used to facilitate safe driving ?

A. Plane mirror
B. Convex mirror




C. Concave mirror

D. Plano concave mirror
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Section - B consists of 24 questions (S1. No.25 to 48). Attempt any 20 questions from this section. The
first attempted 20 questions would be evaluated.

YUg - §(SECTION - B)

25.

CeH1206(aq)l +  602(g) -------------- > X COzx(aq)l + Y H2O(1)+ energy
IR rfAfrar & X 3R Y BT a1 &-

In above reaction, the values of X and Y are-

A. 6,6
B. 6,7
C. 7.8
D. 89

STEl 37FT Y BB AT U H STefl STt &t 5 wfshar # fAmfefad ® st sfifosang g
()  3MIeRoT (i) IerEIBRT (i) dgBROT (iv) wraor fAmfor

A (1) 3R (i)
B. (1) 3R (iii)
C. (i) 3R (iii)
D. (i) 31R (iv)

26.
Which of the following reactions occur, when a small amount of acid is added to water?
(1) Ionization (ii)  Neutralization (iii))  Dilution (iv) Salt formation
A (1) and (ii)
B. (1) and (iii)
C (i1) and (iii)
D (i1) and (iv)
AT 31T e B parere gt & | Fmfafea & & 3 -t ve 3rurg fgq &1 garee
82

A BN
B, Jwrge
C. I

27. b. o g

Generally non-metals are not conductors of electricity. Which of the following is a good conductor
of electricity?

A. Diamond
B.  Graphite
C. Sulphur
D. Fullerene
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A
B.
C
D

B.

A.

C
D.
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faferep
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An element reacts with oxygen to give a compound with a high melting point which is also soluble
in water. The element is likely to be

Calcium

Carbon
Silicon
Iron
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A. 1-a,2-baar 3-c
B. 1-b,2-ader 3-c
29 C. 1-c,2-baer 3-a
D. 1-a,2-cdar 3-b
In the given table match Column-I with Column-II.
Column-I Column-II
1 | Bleaching Powder | a | Oxidizing agent in chemical industries
2 | Baking powder b | Remove permanent hardness of water
3 | Washing Soda ¢ | A mixture of sodium hydrogen carbonate and a mild edible acid
A. 1-a,2-band 3-c
B. 1-b,2-aand 3-c
C. 1-c,2-band 3-a
D. 1-a,2-cand 3-b
frafafad ¥ ¥ R urg & R ¥ B IO1 B TE TE €2
A, TSI o HIY 3MTHAT I IR Teb THBAT g8 2dd SaTell 30~ &l 8l
B.  ofidet STeT & A1y 31fAfehaT ek HIHIRIIH 3TRATSS T fHHTUT AT daT
30 gTSgIoH 11 3cafSid HXT gl
' C. e urt & Frer srffshar s HIHIIIH SIS SIeNaTSS T (HTOT AT de
TS gIo 19 3cafold &eAT 2l
D. 1o & @rer sihifshar e HHHRIIH STegiaNTSs T fHHTOT AT dei

TS gIoM 1 3Icafold BT 2l




Which among the following statements is incorrect for magnesium metal?

A. It burns in oxygen with a dazzling white flame.
B. It reacts with cold water to form magnesium oxide and evolves hydrogen

gas.

C. Itreacts with hot water to form magnesium hydroxide and evolves
hydrogen gas.

D. It reacts with steam to form magnesium hydroxide and evolves hydrogen
gas.

ToT HAT 31 4 35 | & el §- 3B (A) 9T BRUT (R) i f&T MY fdbed # HEl fdebey gae 3R
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Question No. 31 to 35 consist of two statements — Assertion (A) and Reason (R). Answer these
questions selecting the appropriate option given below:

A.Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is not the correct explanation of A .

C. Ais true but R is false .

D. A is False but R is true.

31.

TR (A): ST BISgISI BIaie 3T eI | 3UINT eidT &
PRUI(R): HITSTH EEGISH BIEIE Ueh geieT &R 2

Assertion (A) : A: Sodium hydrogen carbonate is used in fire extinguisher.

Reason(R ): Sodium hydrogen carbonate is a weak base.

32.

IMFBYT (A): TBTA FHLATUT Bl Tp HITRATHT 37T AT ST1aT % |
BROT (R): WeBII TTTUT bt UfhaT | FHoft 3cd~T Bl & |

Assertion (A): Photosynthesis is considered as an endothermic reaction.

Reason(R ): Energy gets released in the process of photosynthesis.

33.

AR (A): efei™ T 37TaRe ffd # SERM B 2 |
PBRT (R) ; SERTH 37g2N90T & feiy Adal &Fhd del ad & |

Assertion (A): Internal wall of the intestine has numerous Villi.
Reason(R ): Villi increase the surface area for digestion.

34.

37 (A) : BAR 2RR H 13 fAAT0T o gRT 3rufers yereif @1 arey fAebrell SITdT 8 |
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Assertion (A): In our body ,the purpose of urine formation is to filter out the substances which
arc waste.




Reason(R ): The amount of urine formation depends on the amount of water we drink and the
food absorbed by our body.

3B (A): HIH & feadl ® 31<R Pl WRa i & goiTg o7 Hl gl |
BRUI(R): fois o7 & 31faes srfifamia grar & |

> Assertion (A): Food cans are coated with Tin and not with zinc.
Reason(R ) : zinc is more reactive than tin .
fefefad 4 § fobTd,geg I SiER BT YRITROT U <Ish § Pael Vb IR BIdl 82
A, wRmyer, fafean ara
B.  ®g3m, wiRes, didr
C. @&, greft, ded
y D.  gfmfteer, 2T, foudat

In which of the following groups of organisms, blood flows through the heart only once
during one cycle of passage through the body?

A. Rabbit, sparrow, snake

B. Turtle, Crocodile, Parrot

C. Whale, Elephant, Penguin

D. Dog fish, Toad, Lizard

37.

A 1y Y Ywifesd O § gregio 119 &l 3 B 8 PO dcdl I 37+ dT &R &b 1
sthifshanaf @I erfar T 2 |

dad A &R
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I Vv V
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A, jqariv
B. j1qariv
C. e
D. |3emi
The table given below shows the reaction of a few elements with acids and bases to evolve
Hydrogen gas.
Element Acid Base
)| X X
1l \ \
11 \ \
v V x




Which of these elements form amphoteric oxides?

A. Tand IV
B. ITand IV
C. IIand III
D. TandIll
STHIBT T H TTH1ehT & 37X WTSHT Bl el H ............... 37166 BId &1
In lymphatic system lymph contains more of ..................... than plasma.
A.  WBC
38. B. DNA
C.  Haemoglobin (ERratfe)
D. RNA
e, febdt oI T &MHAT -2.0 B,dT SHebT 31f § DY IE i Yeb-
A 37gdd o B fSEhT Bied gl -50 m @
B. 3 i & foiges! wiehd gl + 50 cm @
C. 37adel o & fSIEeh! BIed gif -25 cm &
39, D 3dc i ¢ forest Bl gl -25 m &
If the power of a lens is — 2.0 D, then it means that the lens is a
A. concave lens of focal length -50 m
B. convex lens of focal length +50 cm
C. concave lens of focal length -25 cm
D. convex lens of focal length -25 m
T T febeul febeft 3edel GUUT b HTHA 25 cm T G W Ueh foig WR 3T it 81 9% &
febeT it IR I@T ST T 38 Uldferml BT 3ThR a¥g b 3TBR P HATHM 812
A SUUT 3 HTAA 25 cm BT gl W
B. SUUT & THA 50 cm DI g8 W
C. SqUT & HTHA 25 cm AT 50 cm & T ®
D YT & A 50 cm 4 W
40.

Rays from Sun converge at a point 25 cm in front of a concave mirror. Where should an object
be placed so that size of its image is equal to the size of the object?

A. 25 ¢m in front of the mirror
B. 50 cm in front of the mirror
C. Between 25 cm and 50 c¢m in front of the mirror .
D. Beyond 50 c¢m in front of the mirror.
J Sftg ST 7d 3R F-TTel gardf o 377d 8-
41. A Sitgrg
B e
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D. 3w it

Organisms growing on dead and decaying matter are called as:

A.  Bacteria

B. Fungus

C. Saprophytes

D.  All of the above

gareh W BB (TAHSAH) BT B 8-

A, IquTi BT GH:31G2T0T

B. =7 gr1 w7 -fAAfur
C. WPl yplAd BT
D.

T BT H1G BAT
42.
In kidney, glomerulus is involved in-
A.  reabsorption of salts
B.  urine formation by filtration.
C.  collection of urine
D.  release of urine
Teh Ml o H 30 cm bl gl W Ueh STeldl g8 AIHeT bl @l BT Uldfar o bl gERt dRh
3P YeBTIRlh PBra I 60 cm DI gl T I Ueh FhIT W I 8l H o Pl Blebd I 8Iil-
The image of a candle flame placed at a distance of 30cm from a spherical lens is formed on a screen
placed on the other side of the lens at a distance of 60cm from the optical centre of the lens. Its focal
43. length will be
A. 10 cm
B. 20cm
C. 30cm
D. 40cm
PI-IT YT Uh o Pl &HdT (P) 3IR By g3 () & &t & Hae Pl goffdr 2|
A, 9 Ul Sedl § o By g3l gedl g
B.  OId &l 9¢dI § dl Bidhd gil ggdl o
C. &IdlHIHd gl & R g
D. &Hd BIHY g3l I Taftd T8l § |
44,

The correct statement that depicts the relation between Power(P) and focal length (f) of a lens.

A.  When power increases the focal length decreases.

B.  When power increases the focal length also increases.
C.  Power is equal to focal length

D.  Power is not related to focal length.

45.
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feremeff I I 11 v
Zi 300 300 30° 30°
/1 180 200 17° 21.5
Le 320 30.5° 320 34.50
T 37 YT 2-
A. I
B. 1
C. 1
D. 1V

In an experiment to trace the path of a ray of light passing through a rectangular glass slab, four

46
A, 12x10°m/s
B. 1.2x 107m/s
C. 1.2 x 103m/s
D. 1.2x 10°m/s

Students 1 11 111 v
Zi 30° 30° 30° 30°
Lr 18° 20° 17° 21.5°
ze 320 30.5° 320 34.5°
students tabulated their observations as given below:
The best observation is-
A. I
B. II
C. 111
D v
afe fFafd &b Arer §R T 39adic 2.5 @ ,d1 §R H Wbl &1 AT .............. BT

If the refractive index of Diamond with respect to vacuum is 2.5.The velocity of light in diamond
will be ......

47.

fefefad & @ fog Rafd # U sradet ador fdl aq @1 ardfad 4 3iftied 81 ufdfar o T
bl &2

A, SIq g BT 3Fb! IehdT AT b FHMH g TR IET &

B. 379 93 Pl 3B Blebd gl A BH gl TR I B

C.  S1q g% PI 39! ashdT AT TAT BIbd P &< H @7 |
D. S 9¥g &1 39b! aehal o I 3i1fe gt w3 gl

Under which of the following conditions a concave mirror can form an image larger than the
actual object?

When the object is kept at a distance equal to its radius of curvature.
When object is kept at a distance less than its focal length.

When object is placed between the focus and centre of curvature.
When object is kept at a distance greater than its radius of curvature

oow>

48.

ﬁﬁ%@ﬁﬁﬁaﬁ?mﬁwé}ﬂéu@ﬁ?ﬁ 3TAfehaTeteTdr b 3TRIE! shH H He! cawel &2

Sip, 3maRA, Aoy, Iifsay|




A, fS& > 3RRT > Aoy > Afsan
B.  Hifsaw > #iferay > 56 > 3maRA
C. I{feam > S > AR > 37RA
D. Hifsaw > 3maRA > #iferd > Sia

Which of the following is the correct arrangement of the given metals in ascending order of their
reactivity? Zinc, Iron, Magnesium, Sodium.

Zinc > Iron > Magnesium > Sodium
Sodium > Magnesium > Zinc > Iron
Sodium > Zinc > Magnesium > Iron
Sodium > Iron > Magnesium > Zinc

SCawp

B -TEl W AR FoT -|
AGHSHI AT Y&t b argHee H oA U FebT2l &b gt ! URECHT §1S1H-51 &1 Yedt &Y Hdg
J SW S &, 4T BT T-cd BH BIdT STl 81 Si-oi 87 gt Pl Tdg I SW I &, §aT &bl T
BH BT ST 8 | R [ S ara|T 3 Y gedt & argrset & Yeplfele o Bl MTfdd
AT &1 ITGHSHAT 37YTA P BRUT, §H AR 37U ardfdep AT I 37feies SaTE WuAd e1d & ; &
3~1a qafed 3R faifed gaiw, gafed 3R gaia & a9a g 6 3R f&fd o1 e &d € ;
g aRY I fenfenree feams <t @ Safds uel &t el

CASE BASED STUDY QUESTIONS -I
Atmospheric refraction is the phenomenon of bending of light on passing through earth’s atmosphere.
As we move above the surface of the earth, density of air goes on decreasing. Local condition like
temperature etc. also affects the optical density of earth’s atmosphere. On account of atmospheric
refraction, stars appear higher they actual are; we observe advanced sunrise and delayed sunset; oval
appearance of the sun at sunrise and sunset ; twinkling of stars occurs while planets do not .

A. E{‘d\_ﬂ'l?ﬁg

B. ge 7t 2

C. v St Y&t @
49, D. IRy it

Due to atmospheric refraction, apparent length of the day|
A. increases
B. decreases
C. remains the same
D. all of the above.

A e
B. e
50. C. =
D. e




In absence of atmosphere, the colour of sky appears

A. Blue
B. Black
C. Red

D Yellow

[efefEd § & B Ht IREeT argHse g 379dd & BRUT &l gidl?

A, dRI & fenfeamr
B.  xfiw gafea
C. Sy &l g4 1

. D. fgafea It

Which of the following phenomena does not occur only due to atmospheric refraction ?
A.  Twinkling of stars
B.  Advanced sunrise
C.  Rainbow formation
D.  Delayed sunset
TeY FH& | UTHT b Hiel 317 BT BROT 2:
A, QgTeT 3R UHT H YTY ST dTed 310 9Tl <l 3ufeefd
B. gt smreprer w1 wfdfed
C. Ueprel &1 gehiviq
, D.  #qg & Hepr2r or 3/aQnyor
52.

The bluish colour of water in deep sea is due to:

The presence of algae and other plants found in water
Reflection of sky in water

Scattering of light

Absorption of light by the sea
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CASE BASED STUDY QUESTIONS -II
An element is a pure substance made up of same kind of atoms. At present, nearly 118 elements are
known but all of them do not occur free in nature, some of them have been synthesized by artificial
methods. Based on their properties, they are mainly classified as metals and non-metals. Metals are
those elements which lose electrons and form positive ions i.e. they are electropositive in nature. They
are generally hard, good conductors of heat and electricity, malleable, ductile, and have striking lustre.




But in few exceptional cases, some metals are also there in soft and liquid form. They have a significant
role in our daily life.

AHfeifEd § I Gt urq fagd & Jed 38! ATdid &2

A Trd
B. wifeam
C. g
33 D. medt (arm)
Which metal is the best conductor of electricity.?
A. Silver
B. Platinum
C. Iron
D. Mercury
fFrfefea ¥ ¥ PiH-B W U1y 3rafis = dar smaras 82
(i) |feam (if) =T (ifi) aeferm (iv) T1&
A (i) 3R (i)
B. (i) 3R (iii)
C. (iii) 3R (iv)
>4. D. (i) 3R (iv)
Which of the following are the most malleable and ductile metals?
(1) Sodium (i1) Gold (ii1) Potassium (iv)Silver
A. (i) and (ii)
B. (ii) and (iii)
C. (iii) and (iv)
D. (ii) and (iv)
(Hfifed ® & PiH- Ht HTg d¥el 37T § UTE STl @ fSiept AHiHTeR H 39T Wi fdsar Sirdr &2
(i) |feam (i) "Rt (TR (iii) =&Y (iv) Trferm
A D) 3R (i)
B. (i) 3R (iii)
C. &ad (i)
D.  &ad (iii)
55.

Which of the following metal exists in liquid form and is also used in thermometer ?
(1) Sodium (ii)) Mercury (iii) Silver (iv) Potassium

A. (i) and (iii)
B. (ii) and (iii)
C. Only (i1)
D.

Only (iii




A. goIdE TEUT AR

B.  golag T @
C. A3RBeH
D. 3w ot
56.
Sodium is the element which ................ and form positive ions.

A.  gains electrons
B. loses electrons
C. Both Aand B
D. shares electrons

CASE BASED STUDY QUESTIONS -1I1

All living cells need nutrients, Oz and other essential substances. Also, the waste and harmful substances
need to be removed continuously for healthy functioning of cells. So, a well-developed transport system
is necessary for living organisms. Complex organisms have special fluids within their bodies to transport
such materials. Blood is the most commonly used body fluid by most of the higher organisms. Lymph
also helps in the transport of certain substances.

eRR & fafi=T vl # 3ffaeftor WorvT & fog Amfafad § & SR &1 BH-11 ged 3her
4
A.  RBC ¥ gHrallfed
B. WBC # €Hraifed
C. AS3RBGHl
D. 9% & ®1E 78
7. |Which of the following blood component is responsible for carrying oxygen to different parts of
the body?

A. Haemoglobin in RBC
B. Haemoglobin in WBC
C. BothAandB

D. None of these

BT Gt BfER BB oRR &Y I8 Beadt &2
A. AT BfOR BIOTBTT

B.  odq ®fOR HiUIhTT
C. wieciea (gt
D. 3o It

58.
Which blood cells are called as soldiers of the body.

A. Red Blood Corpuscles
B. White Blood Corpuscles
C. Platelets

D. All of the above




fFfafad o 3R &1 PH-IT geh Tle P T W Bf6R BT g7 I AhdT &2

A, 93d BiR HUTHEIG
C. @ R HioTeTy
D. e
59.

Which of the following components of blood is responsible to stop bleeding at the site of injury?
A. White Blood Corpuscles
B. Platelets
C. Red Blood Corpuscles
D. Plasma

AT BfER BT U BUTART & fFHTH ..o 917 SI1d &
A.  RBC @1 WBC Ml
B. RBC, WBC @& 9réH i
C. WBC a1 It YR & UIcH
D.  RBC d21 $8 UIEH B! BIgH, BitR & 1l I T2

60.

Cawp

Lymph is modified blood that contains. ..................

RBC and WBC

RBC, WBC and protein

WBC and all protein

All contents of blood except RBC and certain proteins.




